[MSEE MHRTZAA—TUERAFE—EX

X PEULKERICHZEANDBYET OT. BHOFIARRIIEBE LS,
IMNART=AH—T> B37-4711

3A

FER B2 TR AER-BE4 T m#
1 %
2 T 900 1700 ®ZE)|EREFAAKS/MNARBRFE DMEHETF-AHBE 8
3 H 900 1300 ELILVF=RNDEL IMART=ABE 6
3 H 1300 1700 #R)IEEXFAREHR/NERBEFR(FHER DMEHETAHBE 8
3 H 900 1700 BEHBEFMHPREESFTYINZZIKE @AEIIRPEE 8
4 R
5 K
6 K
7 K
8 < 9:00 12:00 O—rE{E PMERAR—Y-X{LEELEE 8
8 %  13.00 16:00 O—FE{E PMERAR—Y-X{LEELEE 8
9 £ 900 1700 —H&FMAEAH PMERAR—Y-XEECEK 8
9 + 900 1700 HEFET-RETL INHRT=RABE 8
10 H 900 17:00 FI37E/NAHFREHETSVXSEMERS (A /DEHRTEEHRSR 16
11 A
12 X
13 K
14 XK
15 £ 900 1200 a—rEE(FHA) MERAR—Y- X EEERKE 8
15 £ 13:00 16:00 O—rE{E(FHA) MERRK—Y-XBEEEE 8
16 L 900 17.00 PMHAEREA—ToRTSOT_REFIE INRT=RABE 16
16 L 17:00 1900 /NHAREA—ToRTSOT_REFIE INHRT=RABE 8
17 H 900 17.00 PMHAREA—TIoRTSOT_REFIE INHRT=RABE 13
18 A 900 17.00 MHAREA—ToRTSOT_REFIE INRT=RABE 16
19 X 900 17.00 MAREA—ToRTSOT_REFIE INRT=RABE 13
19 X 900 17:00 MEARF—TUoRTFSUF-RRFH(FHA) MHRT=ABE 3
20 k¥ 900 17.00 /MNEBRF—TURTFIUT_REFIE IMART=ABE 13
21 K 900 1700 /NARA—TURTSOT_REFIE INHRT=RABE 16
22 & 900 1700 /NARA—TURTSUOT_REFIE INHRT=RABE 8
22 % 900 17.00 /MARA—FTUATFSOTF_IRFE(FHKE) PMHRT=AHE 5
23 *+ 900 1800 —f&FIMAAB PMERAR—Y-XEECEK 8
23 * 900 1800 /NARA—TUARTISUT_REFIE INHRT=RABE 8
23 + 1800 19:00 /NARA—TUARTSUT_REFIE INHRT=RABE 7
24 H 900 1800 —#&FMAAB PMERAR—Y-XEECEK 8
24 H 900 1700 /NARA—TURTSOT_REFIE INHRT=RABE 8
25 A 900 17.00 /MEARA—FTUATFSOTF_IRFE(FHKE) PMHRT=AHE 8
26 X 900 1700 #HHRJIIBRVIFM=RATHEXRR % ASRE AN 8
27 K 900 17:00 #FEJNBRYIFT=AHEKRE % ASRE AN 8
28 K 900 17:00 FAyRILIF(FEE) HESR 14
29 & 900 17:00 FAYRILIF(FEE) HEE® 14
30 = 900 1800 —f&FIAAB PMERAR—Y-XEECEK 8
31 H 900 1700 A5 I75-F¥vRIL#FE VIMTZRABE 16




fMeEE MARTAA—TUERAFTE—EX

X PEULKERICHZEANDBYET OT. BHOFIARRIIEBE LS,
IMNART=AH—T> B37-4711

4H

FER B2 TR AER-BE4 T m#
1 A 900 17:00 #575%vyRXIL#F VIMT=RABE 16
2 X 900 17:00 FHFISXYYRILIF VIMT=RABE 16
3 /K 900 1300 FHFISEXYYRIIF VIMT=RABE 16
3 /K 1300 1500 #FHFIS5FXvvRILIF VIMT=ZRBE 12
3 /K 1500 17:00 #HFIS5FvvRILIF VIMT=RABE 8
4 K
5 £ 900 12:00 O—FE{E PARAR—Y-XCEELEHE 8
5 £ 1300 16:00 O—FE{E PARAR—Y-XCEELEHE 8
6 =t 900 17:00 /HERY—THE INHRT=RABE 8
7 H 9:00 18:00 —ﬂgiﬁ]ﬁﬁﬂ INERRAR—Y-{EESEE 8
7 B 900 1700 /JHER)—TH INHRT=RABE 8
8 A
9 K
10 7K
11 XK
12 £ 900 1200 J—rEE(FER) MEARZR—Y-XLESCRE 8
12 £ 1300 16:00 J—rEE(FHER) MERZR—Y-XLESCRE 8
13 £+ 9:00 18:00 —fEFIAE DERAKR—Y-XEEELEE 8
13 + 900 17:00 BAREAESBEANFIOVIFE BEEY I REME 8
14 H 900 17:00 BAEXESWBEANFIOVIFE FiEH BEEEY TN T REME 8
14 H 900 1800 FiiRDFLOLDPEYINT_REZRE REAITOVIPIEE 8
15 A
16 X
17 K
18 K
19 %
20 £ 900 1800 PIRAESRFESEAN) REEEY IR AEME 8
20 + 9:00 18:00 FHMRDELKFREYINTF-RESAS FHE BEITOvHhFE 8
21 H 900 17:00 /MNEE)—TE INHRT=RABE 8
21 H 900 1800 BIEALEFRES(EAN) FHEH BEEEY TN T REME 8
22 AR
23 K
24 K
25 K
26 =
27 + 900 1800 —#EFMAA DERAKR—Y-XEEELEE 8
27 £ 900 1800 PIRALRFES (HF) BEAE/IFTREMS 8
28 H 900 1800 —#&F AR PERRAR—Y-XLEEEEE 8
28 H 900 1800 BIRALEFES (HK) BEAE/IFTREMS 8
29 H# 900 17:00 /NART=RZEFIE () INHRT=RABE 8
29 A% 900 1800 PIRAESRFES(EA-HEK) FHA KREKEVIFT-IEMEB 8
30 K




